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Please check that this question paper contains 8 printed pages and 2 pages of maps.
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Please check that this question paper contains 26 questions.
Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer script during this period.
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(i)
(i)
(iii)
(iv)
v)
(vi)

(vii)

There are 26 questions in all.
All questions are compulsory. .
Marks of each question are indicated against it.

Question numbers 1 to 10 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 20 words.

Question numbers 11 to 20 are short answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 words.

Question numbers 21 to 25 are long answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

Question number 26 is related to identification or locating and labelling of
geographical features on maps. :

(viii) Outline maps of the World and India provided to you must be attached within your

(ix)

answer-book.
Use of templates or stencils for drawing outline maps is allowed.
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Which continent has the highest growth rate of population ?

“ferT Srqare vre% Bt afern i | i 1

Define the term ‘sex ratio’.

Jcitaeh foharhetdt & g gt 33T I | %+%=1
Give any two examples of tertiary activities.

[T HHT HH Fed ¢ 2 % 1

Who is an empowered worker ?



10.
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12.
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Define the term ‘density of population’.

T4 s & Gaity® Qe T S 918 2

Which is the most significant aspect of human development ?

e ST 1 2 JqEw |

Give the meaning of Human settlement.

U Hemr fHE wed € 2

What are National Highways ?

g3y dge (IRAVT HeA) IA-HUSEH o WA I AT Fary |

Name the head quarter of ‘South Central Railway Zone’.

STE HEU o fohegl &t WTHiae Sidl & AT Jarsy |

Name any two natural sources of water pollutants.
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Explain how technology indicates the level of cultural development of society.

Aa T & Tend &1 i SR ST |

Explain the key areas of human development.
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Explain any three characteristics of ‘Foot Loose Industries’.
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Explain any three ‘push factors’ which compel the people to migrate from one area
to another area in India.
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Study the map of India given below carefully and answer the questions that follow :
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Define the term metropolitan city.
Which state of India has the largest number of metropolitan cities ?

15.3 Name any two northern states of India which have no metropolitan city.
Az  TEfatEd uee Foa giedm afa F orr T € 15 S -A R E

Note : The following question is for the Blind Candidates only, in lien of Q. No. 15.

16.

17.
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What are ancient towns ? Give four examples of ancient towns of India.
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1+2=3

3x1=3

“Land use in a region, to a large extent, is influenced by the nature of economic activities

carried out in that region” Support the statement giving three examples from India.

STeT TR Sy i ST T | T T S99 F1 € 2
Explain watershed management. What is its aim ?
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Describe the uneven distribution of mineral and energy resources in India by giving
suitable examples.

19. = 5T 7T v wE T W9 F fefa KEm aret e % g S 3R 39 A
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19.3 T9 €4 & foTw et &1 | S Qg 2

Study the diagram showing the location of a major steel plant given below and answer
the questions that follow :

19.1 Identify this steel plant and write its name.
19.2 Name the source of limestone for this plant.
19.3 What is the source of coal for this plant ?
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Note: The following question is for the Blind Candidates only, in lieu of Q. No. 19 :

¢ i fog SHT IRA & el SR ST I il Fowdl L DT | Ix1=3
Explain the significance of iron and steel industry of India giving three points.
20. ¥RA H TRE FIRTE FIeH R 3 % i T3 Hi A1l Hig | 3x1=3

Explain any three problems caused by urban waste disposal in India.
21. WER H & AH A6l @ AR e T H AMGH G6a1el o [F=) ura fagansi
Ui FIT | 5x1=5

Describe any five characteristics of the economic activities of hunting and gathering
practised in the world.

22. ol UEEA Hi fHl @ [a9udisll # Seoi® ST | STHET S=RIT JE 9T AR w9
I ¥ 2 3 HROT AT | 3+2=5

State any three characteristics of water transport. Why is traffic far less on the Cape
of Good Hope Route’ ? Give two reasons.

23. SRRILHE ANR F [F=1 Ui 3ERI S SFRAT ST | 5x1=5

Explain any five bases of international trade.

24. HOR % fasprasiier 3o 9 urior it #f fe=i e g s EE Hiee | 1+2+2=5

Explain any five problems of rural settlements in the developing countries of the

world.
25. “foue % FRUT 91 T F SENE, WA Tt & 9% ¥ 9RdE 1w iR 9fe R
€ 1" 59 U Sl IR0 |ied IRe BT | 5x1=5

“Despite the setback, caused by the partition, Indian ports continued to grow after the
independence.” Support the statement with examples.
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(26.1)

(26.2)

In the given political Outline Map of the World, the following four
features are shown :

(A) A major area of Commercial livestock rearing.
(B) A major Sea Port.

(C) A major Air Port.

(D) A Mega City

Identify these features and write their correct names on the lines marked
near each feature.

In the given political Outline Map of India, locate and label the following
with appropriate symbols :

(i) The state having the smallest area.
(i1)) An iron ore mine of Karnataka.
(iii) A software Technology Park located in Himachal Pradesh.

M. Tt vee Foo ghieda warfaat F AU e d. 26 F A W E
Note: The following questions are for the Visually Impaired Candidates only, in lieu of

Q.No. 26:
(26.1) BTt HF WL F T W o ST SRS & Hdl T Tst T6 HT 419 FdR |
(26.2) HIEXeiE 1 YHE 9 UH BT W E 2
(26.3) &FFA H 9YRA H FIQ B AT B A€ 2
(26.4) TemrEet vewT | ferd WiveaaR SaTlST qTeh &1 A qary |
(26.5) HAEH TIE A B U UH @H HT A9 TART | 5x1=5
(26.1) Name any one major sea port of North America located on the coast of the
Gulf of Mexico.
(26.2) Which is the major Air Port of Netherlands ?
(26.3) Which is the smallest state of India in respect of area ?
(26.4) Name the city having Software Technology Park in Himachal Pradesh.

(26.5)

Name any one iron ore mine of Karnataka.
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Outline Map of India (Political)

Map for Q. No. 26.2
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